1B 75 7
y=a(x-p) +q oA (p,q)

Wl R 2RED 77 7 DIHRZ KD X,

(1) y=2(x+1)"-3 (-1-3)

2 2 2
(2) y=x2+5x:[x+Ej —(EJ :(x+§) -2 :>(_—5_—25j
2 2 2 4 2 4
5 5\ (5Y 5\ _ 25
3) y:3x2+5x—7:3[x2+—xj—7=3 (x+—} —[—j —7=3(x+—) -3.=-7
3 6 6 6 36

5\ 109 (-5 -109
=3 X+= | ——=| —, ——
6) 12 6 12

1 cx+d oSt C
y=_—o+d PWLRIEX=p y=0 y=——" OWLHIE _b ¥Y=7
T a
M RODGEEEB O %KD X,
2 3x+1
1) y=——-3 2) y=
Wy X+1 @y 2x+1

AREY x=-1,y=-3 /AWl X:_?l,y:

N w



f(x) OB = x=f(y)=>y=f"(x)
JCOREE & WA D 77T 7 IZTERR y = X (B L TxFR
X XL yz ANEZ L LEMRY=XICREL TR 7Lk2

Ml ROBE DRI %2 KD X,

(1) y=2*=x=2"=log,x=1log,2’ =y = y=log, x
(2) y=log,x = x=log,y = 3* =3 =y = y =3

® y=¢ (x20) = x=y (y=0)= y=—x

M)yziig:>X:Xizsz(y+nzy—2:>xy+x:y—2:3xy—y:—x—2
X+1 y+1
—X—=2
= (x-1l)y=-Xx-2=y=
(x-1)y y=—"7

y=+Jax+b+c @Tﬁ,ﬁciax+b=0=>x=_f::>yzcz(%b’cj

b
Xz?(a>0) ygc<y=+\/_)
EFEIHIT ax+b=20= b fiEdE 1%
x§%(a<0) y§c<y=—f)

] R OMIRIE D TH i & E RIS X Ol %2 Ko X,

(D) y=Vx+1-3 (EEoxEE) = O =x+1=0= x=-1=y=-37%E2b, (-1-3)

FF = OF=x+120=x>-1 fill: y+3=/x+1>0=y>-3

@) y=—V-2x+4+1 (EEOXEE) = OH=-2x+4=0=x=2=y=1%»b. (21)

EFE =V O = 2x+4>0=>x<2 flik: y-1=—J2x+4<0=y<1
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